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(1) IBRD 3R IMF
(2) WTO 3R ADB
(3) IDBI 3R IFCI
(4) IR T F1E T

[ 1.

The Insolvency and Bankruptcy
Board of India was established in
which year under the Insolvency
and Bankruptcy Code, 2016 (Code) ?
(1) October, 2016

(2) October, 2017

(3) December, 2016

(4) December, 2017

Who is the main sponsor of
Rajasthan Marudhara Gramin Bank ?

(1) Government of Rajasthan
(2) State Bank of India

(3) Punjab National Bank
(4) Government of India

In which year, after

amalgamating 3 Regional Rural

Banks, the Baroda Rajasthan

Kshetriya Gramin Bank was

established under Regional Rural

Bank Act, 1976 through Gazette

notification ?

(1) 1976 (2) 2013

(3) 2002 4 1979

Which of the following is the

objective of International

Monetary Fund ?

(1) Establishing  International
Monetary Co-operation.

(2) Ensuring stability in the
foreign exchange rates.

(3) Eliminating or reducing the
disequilibrium or
maladjustments in balance of

payments of countries.
(4) All of the above

are the two multilateral
organizations created at in the
Bretton Woods Conference in 1944 ?

(1) IBRD and IMF
(2) WTO and ADB
(3) IDBI and IFCI

(4) None of above
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10.

11.

Which of the following may issue
ADRs ?

(1) American Investors

(2) International Exchange

(3) RBI

(4) Banks of U.S.

EXIM bank was established in
which year ?
1) 1972
(3) 1982

(2) 1992
(4) 1981

The WTO officially commenced
under which of following
agreement ?

(1) Torquay agreement
(2) Geneva agreement

(3) Marrakesh agreement
(4) None of the above

is a type of Foreign
Direct Investment in which a
company make lease or purchase
of a pre-existing facility in host
country.
(1) Strategic investment
(2) Greenfield investment -
(3) Brownfield investment
(4) All of the above

What is the FDI limit in Defence
Production under Automatic
Route in India ? (As on
September, 2020)

1) 51% 2 49%

B) 74 % 4) 26 %

Which of the following should not
be included in the -current

“account of balance of payment ?
(1) Visible trading across countries.

(2) Invisible trading across
countries.

(3) Bonus shares to equity
shareholders.

(4) Unilateral transfers to

relatives outside country.
=
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12. Government’s Direct Foreign Aid

13.

14.

by a country to another country
will come in which of the
following accounts of the second
country ?
(1) Direct
account
(2) Official reserves account
(8) Capital account
(4) Current account

income received

Non-debt creating capital inflow
comes under the category of

(1) External commercial
borrowings

(2) Capital account
(8) Current account
(4) Official reserves account

Which one of the following is
correct with respect to Central
Bank and Fixed Exchange Rate
system ?

(1) RBI intervention in the fixed
foreign exchange market is
not permitted.

RBI’s intervention in the
fixed foreign exchange
market is not necessary as
exchange rates do not change.
RBI’s intervention in the
foreign exchange market is

often necessary.
(4) All of the above

)

3

Which of the following is external

process of managing Forex risk ?
(1) Do nothing

(2) Leading and lagging

(3) Netting

(4) Foreign currency borrowing

36



16.

w1 foesht gg fafma smm #,
et geatt B Fel w1 @ W H
R & e A I9E (Spill-Over)
TN YSaAT R |

FHY-11 : s feeht e fafg s
#, e it 1 st fafme @@
i fREFATA@ R |

Hy-111 : facsht g1 fafa s

' FTyfd-uey wEn T rEifE R |

17.

18.

36

IR FUA A A PAE /AT /8 7
(1) FaABEI

(2) FIAHY I IRII

(3) Haa YT I AR III

4) sfiTEaR €|

et 3 @ e feresht weaw 5@ (FDI)
HITHRE ?

(1) 2fN ...

(2) T TH. 9.3,

(3) ¥g=EH (Conglomerate) Wh.81.3T8.

(4) W aeft

T <91 3 Toh Y & AR TG TR H

ffe & a1 | 79gd, Few am 3k

FAAH AR % T W @ o |

frffaq i a s AFe e ?

(1) 98 v g f%, fFaw, s=a @
It A A

(2) 98 avd ? 5, facsht =, s
HI & ST @R |

(3) 7€ W ¢ %, &t ok Rradimm
T W ARPE @I |

(4) Il asft

16.

17.

18.

Statement I In foreign
exchange market prices of
foreign currencies have spill-
over effects on trade between
two nations.

Statement II : Often in foreign
exchange market, monetary
authorities aim at stabilizing
the exchange rate.

Statement III : The supply-side

quantity of the foreign
exchange market is virtually
unlimited.

Which of the above statement(s)
is correct ?

(1) Statement I only

(2) Statement I and II only

(3) Statement I and III only

(4) All the statements are correct.

Which of the following is a type of
FDI ?

(1) Horizontal FDI

(2) Vertical FDI

(8) Conglomerate FDI

(4) Al of the above

A country had a balance of trade
deficit in a year. Balance for
wages, investment income and
current transfers were zero.
Which of the following
statement(s) is true ?

(1) It may  possible
investment must
exceeded saving.

It may possible that borrowing
from abroad must have been
equal to the trade deficit.

It may possible that, there must’
have been a surplus on the
capital and financing account.
(4) All of the above

that
have

@
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19.

20.

21.

22.

23.

What do we call the risk not
unique to a specific company or
industry under Market Analysis ?

(1) Unsystematic risk
(2) Specific risk

(8) Diversifiable risk

(4) None of the above

Basic methods of Risk
Management include

(1) Risk Avoidance

(2) Risk Transfer

(3) Risk sharing

(4) All of the above

Which of the following is not the

benefit of Convertibility of Indian

rupee ?

(1) Encouragement to exports.

(2) Discouragement to imports.

(3) Incentive to send remittances
from abroad.

(4) Discouragement to
substitution.

Exchange rate is governed under
(1) Quantitative method

(2) Qualitative method

(3) Theoretical method

(4) All of the above

In an emergent situation, who
may determine the Exchange
Rate in India ?

(1) IMF

(2) IBRD

(3) RBI

(4) None of the above

import

WTO works in co-operation with
which of the following (with
formal agreements or without
formal agreements) ?

(1) World Bank and IMF

(2) WHO

(3) Option (1) and (2)

(4) None of the above

36



25.

26.

27.

28.

29.

30.
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26.

27.

28.

29.

EXIM Bank is concerned with
which of following ?

(1) India’s import trade only
(2) Foreign trade

(3) India’s export trade only
(4) India’s domestic trade

Balance of trade is related to

(1) Domestic trade

(2) Local trade

(3) Export - Import

(4) All of the above

IDA, IFC Institutes are related
with which of the following
pioneering organization ?

(1) UNO

(2) WTO

3) IMF

(4) IBRD

The GDRs are often listed at which
of following Stock Exchange ?

(1) New York Stock Exchange

(2) London Stock Exchange

(3). Luxembourg Stock Exchange
(4) Option (2) & (3)

What are NAMA products ?
(1) Manufacturing products
(2) Fuels and mining products
(3) Both option (1) and (2)

(4) None of the above

Which of the following is not correct ?

(1) Full Capital Account
convertibility is allowed.

(2) We  stopped continuing
Capital Account
convertibility due to the 1997
Asian Financial Crisis.

3) In India the full
convertibility of Rupee is
allowed in both -current
account and capital account.

(4) All of the above
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31.

32.

33.

34.

Which - of -the following may be
included in the credit side of Balance
of Trade account of a country ?

. (1) Imports

(2) Exports
(3) Foreign investment in the
domestic economy.

(4) Option (2) & (3) both

Exporter whose annual export
turnover is more than ¥ ___ is eligible
for Shipments Comprehensive Risks

. Policy of ECGC.
. (1) 500 Lakh

(2) 100 Lakh

(3) 25 Lakh (4) 700 Lakh

Which one of the following is

. objective of ECGC ?

(1) Protect the Indian exporters
against unforeseen losses.

(2) To provide adequate finance
to the Indian exporters.

(3) Both option (1) and (2).

(4) None of the above

Some percentage of assets is spent
to run a mutual fund which are
born by investors. How to compute
that percentage of assets ?

(1) Expenses/average value of
portfolio (where expense
includes  operational cost,
brokerage, management
consultancy and advisory fees)

(2) Expenses/average value of
portfolio (where expense
includes  operational - cost,

management consultancy and
advisory fees)

(3) Expenses/average value of
portfolio (where expense
represents brokerage)

(4) Expenses/average value of
portfolio (where expense
excludes operational cost,
management consultancy and
advisory fees)
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35.

36.

37.

An Exchange traded fund’s

(1) price is determined only at
the end of every day.

(2) price is fixed and does not
undergo any change during
the tenure of the fund.

(3) price changes throughout the
day, fluctuating with supply
and demand.

~ (4) All of the above

Which of the following is correct
about the scope of credit rating ?
(1) Under credit rating opinion is

provided about debt
instrument.

(2) Under credit rating opinion is
provided about IPO.

(3) Under credit rating opinion is

provided about commercial
paper.
(4) All of the above

The Total Expense Ratio (TER)
allowed under regulation is
of average weekly net assets.

(1) 3% for the first 100 crore

(2) 3% for the first 200 crore

(3) 2.5% for the first 500 crore

(4) 2.5% for the first 100 crore

Bearing initial extremely high
risks and highest rate of returns,
(for start-ups) comes under the
category of which of following ?
(1) Anget investors

(2) Venture capital funds

(3) Investment banks

(4) None of the above
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39.

40.

41.

What is true about Credit Rating ?
(1) Credit Rating process is
mandatory for listed Non-
convertible Debentures.

Credit Rating process is not
mandatory for Initial Public
Offerings of companies that
are getting listed.

@

(3) Credit Rating process is
mandatory for public deposit
by NBFCs. _

(4) Credit Rating process 1s
mandatory for Commercial
papers by Corporate.

Which of the following is true
about valuation of Venture Capital

investment deal ?

(1) In Venture Capital Investment
deal, Valuation is done as per
SEBI formula.

Pre-money valuation is done in
Venture Capital Investment
deal.

In Venture Capital investment
deal, Valuation is done as per
company law.

(4) None of the above

)

3)

The main advantage(s) of an
Exchange Traded Fund over an
Indexed Fund is

(1) Investing flexibility

(2) Traded more easily

(3) More convenient

(4) All of the above

. A company has receivables of ¥ 200

crores from four borrowers. It
converts these into smaller
portions “of 1000 each and sells
these to smaller investors in the
secondary market.

What do we call this fragmentation
of the loan ?

(1) Debt unit scheme

(2) Debt securitization

(3) Assets reconstruction

(4) A company cannot do this
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____ YRa #3331, =h| & gen
¢ TS wE ThA oft, St % 2007
dwg 8 S off |

(1) Ffera

(2) 4.99.-1995

(3) 4.u9.-64

(4) Z.3.31%. 970 wg

et e s Sifen afesg
N vgEH w1 FEw wBEn %
frafafga i fraaes T o g 7
(1) Fawanm

(2) gt fawE

(3) UTES ! AHFT

(4) TRu IR Ruesd

7= 7 & S 7w frfas I9R (New
Issue Market) ST 5™ & :

(1) Srgfa (2) fri
(3) feram (4) ST oft

I @fe FE | e e W

SR 9 R 3fra et =1 o ure

T st 2 1 31y 39 AT B =@ R

S 39 Uwiferl 1 st St 2

ﬁaﬁaﬁmamaﬁ%maﬂﬁm

ST R ?

(1) st SR @9 [The Capital
Market line]

(2) whayfe a9 @A [The Security
Market line]

(3) =it Eecy

Characteristic line]
(4) Jut aft

[The

11

43.

44.

45.

46.

UTI scheme was the largest
mutual fund scheme in India,

which was closed in the year
2007.

(1) ULIP

(2) US-1995

3) US-64

(4) UTI Bond Fund

Identifying return requirements

& risk tolerance is involved in

which of the following component

of the investment process ?

(1) Investment vehicles

(2) Strategy development

(3) Understanding the client

(4) In every component of the
investment process

Which of the following is the

function of New Issue Market ?
(1) Origination

(2) Underwriting

(3) Distribution

(4) All of the above

You are given with a graph with
the

and expected

standard deviation on
horizontal axis
return on the vertical axis. What
will you call the line representing
the portfolio that

combine risk and return ?

optimally

(1) The capital market line
(2) The security market line
(3) The characteristic line
(4) All of the above



47.

48.

49.

50.

frefRea A a AT ag® ?

(1) afe fedt whemfa 6t mfda
TSI, IER & F FN
= A 2 @ wE ahwmh
a2 |

) aﬁ et ohemfa &t nfdm

TER @1 % FH
wéﬁ%ﬁwﬁraﬁaqmﬁa
2 | (afe ofwmfy e §9 8
w3 w3 fal Sifam @i 2 1)

(3) I i ohomfa H Olk@
e, TR @ & IR

5 W@?ﬂ% a1 98 qhemte %9
qeaifha R |

(4) I & A I TE

Ffrear w@e TR =l = gar g %

NIRRT e Gl D A TR TR :

(1) e difyes R qem 8

(2) R S A &

(3) afe =aferm Jifew &

(4) afe fafde sfem &

g dt.w. % q%d, 89 $8 Ghd & 6

wﬁ@m (Over Priced) Hﬁ‘{ﬁ?ﬁ

* TAE |

(1) THRIHH TR

(2) THRIHS ST

(3) NI UTHI

(4) A

APT & sR & f=fafga # @ == @

TR ?

(1) CAPM % faufia, APT ¥&
e gREdE =1 & ER W
SiRgw HftRm w1 ST HEAT R |

(2) CAPM % faul@, APT & #H

AN 2 |

(3) CAPM % fawlid, APT # S&m=
g ¥ fyahka sfoufa fed &
SATATTRAT B & |

(4) SRFaft a&ig |

47.

48.

49.

Which one of the following is true ?
(1) If an asset’s expected return
plots above the security
market line, then the asset is
overpriced.

If an asset’s expected return
plots . above the security
market line, then the asset is
fairly priced. Gf it has an
unusually large amount of
unique risk)

If an asset’s expected return
plots above the security
market line, then the asset is
under priced.

(4) None of the above

@

@3)

Capital Asset Pricing Theory asserts |
that portfolio returns are ' best
explained if :

(1) Monetary factors are known

(2) Market trend is known

(3) Systematic risk is there

(4) Specific risk is there

Under the CAPM, we can say that
overpriced securities have

(1) Negative alphas
(2) Negative betas

(3) Positive alphas

(4) Zero betas

Which of the following is correct

about APT ?

(1) In contrast to the CAPM, APT
uses risk premiums based on
micro economic variables.

(2) In contrast to the CAPM, APT
have. fewer restrictive
assumptions.

(3) In contrast to the CAPM, APT
requires normally distributed
security returns.

(4) All of above is correct.
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APT uise forgn s fwan 2
(1) ¥ wifaes

(2) TR i

(3) farferam wd

(4) <ea0g

fafafRgadd s adt d ¢

(1) CAPM 3R APT 3Hi 3dM Q@
2 T, ooft fRawrs v & aom Ry
# T g wehe GIfor T |

(2) CAPM 3R APT @F! sard & s,
Sifgw 3R Feflie v & 9
=g

(3) CAPM 3R APT 31 war & 5,
e 3R yefie o $ €=
Fis TG TR |

(4) SR aHft

frafaRea i a srm s o g ¢
FA-1:  TH ASEd €9 & I GO
[Strong form efficient

market] #, fFefi IR 6 T
SR, AR} 98 WEse &
feht, &1 wie f fva ® wE
TSR |

Y911 : EMH i Srafires 3= 98
& T I areviifrs &7 @ T
F e ] 3R wie & Fad
Ten fewn =1 sIgEm w |

(1) TaARHL T FAII

(2) e I Fae

(3) B He () 3 (IT)

(4) ¥ (II) e

— L — ——— S ———— —— —— ——
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52.

63.

Who developed the APT model ?
(1) Harry Markowitz

(2) Walt Stoy

(3) William Sharpe

(4) Stephen Ross

-Which of the following statement

is correct ?

(1). Both the CAPM and the APT
predict that, all investors will
hold the same market
portfolio in same market
situation.

Both the CAPM and the APT
state that, there is a relation
between risk and expected
return.

Both the CAPM and the APT
state that, there is no
relation between "risk and
expected return.

(4) All of the above

Which of the following statement
is true ?

)

3

Statement I : In a strong form
efficient market, all information
iIn a market, whether public or
private, is accounted for in a
stock’s price.

Statement II : The primary
assumptions of EMH are that
information is universally shared
and that stock prices follow a
random walk.

D)

Neither Statement I nor
Statement II.

Statement I only.

Both ) Statement 1 &
Statement II.

Statement II only.

@
3)

C))



- 54.

55.

56.

57.

58.

frafefea & & HE wwa § g5, 99
3R wem et & fog fodw &9 @
T o ot et shie Wn el @

(1) TE.TW.3.3R.T (SMERA)

(2) 3mE.4.3R.T. (ICRA)

(3) 3.TH.3TS.HL.3R.U. (ONICRA)
(4) fefeet (CRISIL)

fraferRaa § & S 91 51 TR TR
27

1) gwdfem

(2) wféftrare a1Te femfie (CD)

(3) anforfses wa=

(4) Juq ot

frmr § @ o @ fgdas seR R

fogman 2 7

(1) ®9 A o / Higr ArE AR
et Frerenl = @A A @ |

(2) FTETEe S i guig & ufea fee
+ff fom & wingfoal 61 fiwa &
T ©Y § TR a1 8 |

(3) fareped (1) 3R (2)

(4) 4 forhed (1) 3R (2)

DRI e w1 e oo favemw
Hiee foram faspfira foram ¢

(1) faferm wmd

(2) EIea |

(3) T HIl
(4) T A A HE T

Jft F qdaH AW BT R 7 (BEQ
2021 #) : :

(1) ot i, wEIfer™

(2) i wm.®. dEdh

(3) formeEht ()

(4) I § 4 B T

14

54.

55.

56.

87.

Which of the following is a full
service Credit Rating Agency
exclusively set up for micro, small
and medium enterprises in

"India ?
(1) SMERA (2) ICRA
(3) ONICRA (4) CRISIL

Which of the following is money
market instrument ?

(1) Treasury bills

(2) Certificates of deposit
(3) Commercial paper

(4) All of the above

Which of the following is a
feature of Secondary Market ?

(1) Low transaction cost and
gives . liquidity to  all
investors.

(2) Rarely adjusts the security’s
price to any development due

to insider trading.
Option (1) and (2).
Neither option (1) nor (2).

()
4)
Who developed Mean Variance
Analysis Model of Portfolio theory ?
(1) William Sharpe

(2) Stephen Ross

(3) Eugene Fama’s

(4) None of the above

. Who is the present Chairman of

SEBI ? (as on February 2021)

(1) Shri G. Mahalingam

(2) Shri S.K. Mohanty

(3) Minister of Finance (ex-officio)
(4) None of the above
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el shf oi i 9 (Rt
aewifern frawes) fafeam forg of &
i@ frg e & ?
(1) 2016
3) 2018

w SRl s Rt W9
(sfeafert 6t 9 wlic) farfem fovm o
o g fpg T & 7
(1) 2016
(3) 2018

frafiea § & Siwer et g formm =

e g s AEi R ¢

(1) IR TR R AT THAT 1
AT ‘

(2) I AW IS T

(3) Faw= guwn fafy @ g Faws
=i fftr wgm e

(4) TN HT TAT W YA

Freafeflaa & & i o fRrafin Hakee

TR

(1) NSE IFSC fwmior siuiem
fafies

(2) Tt IS waEEw TRt
HiyH fafiees

(3) Agmiferes it widRem T®
sfean fafies

(2) 2017
(4) 2019

-

(2) 2017
(4) 2019

(4) NSE ¢ Seeve fRaaftn sake

fafies

H— LI ——— | S — Ts—— 1 —t— b— ——
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(7))

59.

60.

61.

)
>

@

Securities and Exchange Board of
India (Foreign Portfolio Investors)
Regulations were passed in which
year ?

(1) 2016
(3) 2018

2) 2017
(4) 2019

Securities and Exchange Board of
India (Buy-back of Securities)
Regulations were passed in which
year ?

(1) 2016
(38) 2018

(2) 2017
4) 2019

Which of the following is not an

investor  protection measure

taken by SEBI ? 2
Simplification of share
transfer and allotment
procedure.

(2) Unique order code number.

(3) Providing fund to each
investor from Investor

protection fund.

4

Timely stamping of contracts.

Which of the following is not a
Clearing Corporation ? :

(1) NSE IFSC

Corporation Limited.

Clearing

(2) Multi Commodity Exchange

Clearing Corporation Ltd.
)

Metropolitan Clearing

Corporation of India Ltd.

NSE Trade Settlement

Clearing Corporation Limited

@



63.

64.

65.

frafafga # @ #en NSE faaafar
faftRs F1eT@ TEi 8 ?

(1) sfegferit & wameies iR faoem &
forvama T T s WA % fere
(2) dfuer Sifgw TR TeH FH F

o

@ figem =i # 9gE A @

TTC @A % foTT |

(4) @6 1 ew AVHAM  Yored
et o fore |

& Tfafat Y safy 5 fm @ | e
#1 Ae W 5 g o1 @ g a3
[early start time] 3R 6 feaa =
Teeraan ot ¥99 [latest start
time] TEAT R |

3@ # e, 11 fegm w1 @ g
T9Y [early start time] 3R 12 feag
#1 foeraan gEodt W [latest
start time] T@AT 2 |

3)

%‘I@Z%:

(1) 1fem (2) 2w

(38) 5Tam (4) 7R="
foret wfern o nfafafr &1 Feafalaa
I A © -

T BN 1 g0 (e A ST ¢
07 feaw

FTITETE 99 : 06 feT|
frosmar @9 : 09 feaw

T nfafafy & fou onfdm @ 3k

o FaT ?

(1) 7.17 fe=@, 0.25 Raw

(2) 7.33fe=®m, 0.25 ieaw

(3) 3.67 femw, 1.5 femm
(4) 7.17 fea®, 1.5 fcam

16

63.

64.

65.

Which of the following is not an
objective of NSE clearing Limited ?

(1) To bring and sustain
confidence in clearing and
settlement of securities.

(2) To provide counter-party risk
guarantee.
3)

To promote and maintain,
long settlement cycles.

To operate a tight
containment system.

risk

(4)

For an activity duration is 5 days
and the node at the star has an
early start time of 5 days and a
latest start time of 6 days. The
node at the end has an early start
time of 11 days and a latest start
time of 12 days. The total float is

(1) 1day
(2) 2 days
(3) 5days
(4) 7 days

The following time of activity in a
project is estimated :

Most likely completion time : 7
days.

Optimistic time : 6 days,
Pessimistic time : 9 days.

What will be the expected time and
the variance for this activity ?

(1) 7.17 days, 0.25 days
(2) 7.33 days, 0.25 days
(3) 3.67 days, 1.5 days |
4) 7.17 days, 1.5 days
36



66. T® 1 q Y8 FW [one or two tail

test] @] &, &9 F=ferfga fuife

F B TAE HA 8 :

(1) s=fpfa & &7 (Hifos &)
[Region of Rejection], faewor i
T 1 5 U9 [tails] A @ # |

(2) RFHCTT % Teh A1 g Guifera fsend
q1

(3) 99 F Q TW A [FaH 4@
sftrram] % srehien w0
SATETTIHAT 2 |

(@) Forbea (1) 3K (3) AN

67. Fas vfomm wisa A, $ot Prand gt

68.

36

2:

(1) @ 3k sgE fafererand

(2) e 9 -taw fafdeand

(3) @S 8 fafawand = 7€ wwens
fafeerand

(4) fow w1 3 Was yfom= wiee &
“et R’ S o T 2 |

gfe fafor &1 % [coefficient of

determination] I % Hs B, @ W

T AT HL4 & :

(1) a1 % 3 #1 HIE daew & g,
zafee g feeht ot e i =
TEHREHAE |

(2) TH T H TR TR HI§ T T
TSale |

(8) =i & HEH ThRIHS Ftar 2 |

(4) = F gl Frfer @

66.

67.

NG

By applying one or two tail test, we
try to determine the following :

(1) Region of rejection is located
in one or the two tails of the
distribution.

(2) Hypothesis has one or two
possible conclusions.

(3) . Two extreme values (min or
‘max) of the sample which
need to be rejected.

(4) Option (1) and (3) both

In the linear regression model,
total variations consist of
(1) Minor and major variation.

(2) Linear and non-linear
variations.
(3) Explained variations and

unexplained variations.

'(4) There is nothing like “total

variations” in linear
regression model specifically.

If the coefficient of determination
is close to zero, we interpret that

(1)

As zero makes no sense so we
cannot interpret anything.

@)

One variable has no impact
on the other variable.

The variables have negative

3

dependence between them.

The
dependence between them.

variables have total



69. fg= wanfi [Linear Programming]

70.

71.

H TRl 1 a1cd &

(1) T R $1 W@ I3 [Objective

value] % 9 ThRTcHS AigH T8

B T g |

TH W W TH ST EH

[Constraint equation] #

dhRIcA®H Ok [Negative

coefficient] & & ThaT 8 |

Th =X H1 329 BeH [objective

function] ‘H THERIEH IO

[Negative coefficient] & @&

THaT R |

(4) T =X BT THRED AH T8 &
gHarg |

Freferiaa o @ #1791 ‘S TihewT &

CRE RIS

(1) Y wiepea T gfaey g
[Sampling Theory] £ |

(2) [ URFe TH Hiferhd
Tierert @ R g AFe
frrSTan ® |

(3) I URHHT TH THER H
iereq & e feg d +i8
el (wEe) T2 |

(4) Y AREHCT1 T WIHA § W T
[Universe]_ % fau yferest
[Sample] $ R-Iugear aifad
F=arg |

Yfifees g, R-Jefifes oo &

faadia, 37 TR T B T W & -

(1) GIIRNTH T AHR

(2) ™IS T ATHR

(8) s f@@r  [Underlying
Distribution]

(4) famea (2) 3R (3) Mt

2

3)

LR} et Ts s i ] T s Y St et
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69.

70.

Non-negativity in linear

programming implies that

(1) A variable cannot have a
negative contribution
towards the objective value.

(2) A variable cannot have a
negative coefficient in a
constraint equation.

(8) A variable cannot have a
negative coefficient in the
objective function.

(4) A wvariable cannot have a
negative value.

Which of the following is correct
about the ‘null’ hypothesis ?

(1) ‘Null’ hypothesis is a
sampling theory.

‘Null’ hypothesis is a
statistical concept used for

possible rejection under the
assumption that is true.

2

(3) ‘Null’ hypothesis is a type of
hypothesis which has no

significance in sampling.

‘Null’ hypothesis is a tool that
proves the non-suitability of
a sample to the Universe.

4

Parametric test, unlike the non-
parametric tests, make certain
assumption about :

(1) Size of the population
(2) Size of the sample
(3) Underlying distribution
(4) Option (2) & (3) both
36
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UReheaT adieror §, @1s9 I 3fe (Type

II error)ﬁa@?ﬁ%,m:

(1) 1 & A UNewed1 »l &HR
FRE IR TA TR

(2) B T Y UReheaT I FEHR
TN AR |

(3) W 239 Izﬁ [Type I error] &l
HETFA 2 |

(4) 3N d A HIS T

5% = @riehal TR [level of significance]

H A BT AT FE TR :

(1) & 5% 3Tvad & {6 Rom @@
SO geE |

(2) T 95% vareq € % afome g
I T gE |

(3) & 95% T¥aa & fop uftomm g
VITALE |

(4) &9 5% Jvawd & f aRom gam @
S geE |

FR-TERR GO0 [Chi-square Test]
=l e B & e, 2*2 i wR
38 [Contingency table] ¥ Y& 3
%1 3T 7 A QA FH B IR |

1) 5

2) 4

3) 10

(4) ST § & B &

#9 ° Py U =0 @ oy F
TG T[0T 1 YA fhAT Il B
(1) s &

Q) g

(3) frm =

(4) 30 o A HE &

— ———— T E— S — ——" —— o — ——
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72.

73.

74.

In hypothesis testing, Type II
error is committed when

(1) We accept a null hypothesis
when it is not true.

(2) We reject a null hypothesis

when it is true.
3
(4)

We accept the type I error.

None of the above

. By taking a level of significance

of 5%, we can say that

(1) We are 5% confident that the
results have not occurred by
chance.

We are 95% confident that
the results have not occurred
by chance.

We are 95% confident that
the results have occurred by
chance. ;.

We are 5% confident that the
results have occurred by
chance.

@

3

(4)

For the chi-square test to be
effective, the expected value for
each cell in the 2*2 contingency
table has to be at least :

(1) 5
(2) 4
@3) 10
(4) None of these

To measure ranked variables,
correlation coefficient is used

(1) Spearman’s
(2) Pearson’s
(3) Fisher’s

" {4) None of the above



76. Fas Ty H1 I FA & fo¢ q@@

71.

78.

79.

Ffereh ST P TR AT A @
(1) y=by+ b X+ byX2

(2) y=a+bx

(8) ¥=by+b X2

(4) ST & g

Taa forawor (o) i 39 TR H =ad
IETIECIRCTR S

(1) @=rhEt [Leptokracy]

(2) g9E9dar [Homoscedacity]

(3) ®1-af@i@ [Covariance]

(4) SudiEa avl

e farfts 61 g A & e 2 -

(1) gfafme faft [Univariate
Method]

(2) g faftr [Linear Method]

(3) swa-s@en faftr [Time-series
Method] .

(4) I # A g T

TR §9a Een AaHed fafy &

AR R : ;

(1) =i Suafa gt 1 mfde Ifa
et fterd

(2) TeH! B I FE T [A: FEHI
T T TER e

(3) HEH! B AT HH 4 TS UH
o foTe waea & Tt 1 e w0

(4) MR FoRFwER |

T TS S Fy—— E— f— S— e V— T —— —

[
o

71.

78.

-3
®©

l 76. The most commonly used formula

to describe linear relationship is
(1) ¥=by+Db,X +byX?

(2) y=a+bx

(3) ¥=by+b,X?

(4) None of the above

Constant variance can be also
expressed as

(1) Leptokracy .
(2) Homoscedacity
(3) Covariance

(4) All of the above

The other name of regression
method may be

-(1) Univariate method

(2) Linear method
(8) Time-series method

(4) None of the above

Classical time series
decomposition method’s premise is
(1) to convert annual trend
values to monthly trend
values.

to separate the components
and then recompose them by
putting them together.

to separate the components
and then test the level of
significance - for every
component.

(4) depending on the variable.

)

3
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80.

81.

82.

83.
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GRS Lo

Smoothing] ® :

(1) 1t ot 6 gaigae faltai 4 @

(2) Ygwran > ydiemoy i v iy

(3) faraemt ) gorE wH & fog s
UTdie 1 ITAN HA 61 T fafy

(4) T a4t

frafafgs & @ = @1 & @A
gfamfs & FfRR@r A WM w7
HifeTHT ITHTI R ?

(1) T (suma) T

(2) HEEEH

(3) wEHHLT

(4) 9 asft

st fr=ferfiaa g (wwe) fegmu @ -
U ST HAHK : 9

H1ed (Mean) : 16

a1 fe=e @ (Standard deviation) : 4
HH qfe (Standard Error) 27

(1) 1.00 (2) 1.33
(3) 0.66 (4) 0.75

FE-1: A i
[inferential statistics], que
o1 A g ¥ W F fe
A=A JEH A A =R 2 |

HYI-11 :  SFFAIa aifeh
[inferential statistics] hael
yfeesl @ew [Sample Mean] T
T 381 ITAN T F geatd
21

[Exponential

TR EE AR TR

(1) w1

(2) w11

(3) ®A (I) 3R HYA (A1)
(4) St HYA T & |

o~ S— T — — —" e ——— r— ——— T —— p—
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80.

81.

82.

83.

Exponential smoothing is

(1) One of the forecasting
methods in time series.

(2) A method of testing linearity.

(3) A method to use number
exponents to smooth the
deviations.

(4) All of the above

Which one of the following is the
statistical tool to measure
Volatility of a single asset ?

(1) Standard deviation

(2) Correlation

(3) Covariance

(4) All of the above

You are given with following data :
A sample size of 9,

A mean of 16 and

A standard deviation of 4.

What is the standard error ?

(1) 1.00 (2) 1.33
(3) 0.66 (4) 0.75
Statement 1 Inferential
statistics is  related with
. providing  conclusions and

generalizations about population
from sample data.

Statement 1I Inferential
statistics is related with
providing the best estimate of the
sample mean only.

Which of above statement(s) is
correct ? :

(1) Statement I

(2) Statement II

(3) Statement I and Statement II
(4) Both are incorrect statements.



84.

85.

86.

87.

QoI AT h AT 15 T W IR

[standard error] ¥ ToMT 3.5 & T

2 | 31: 95% HIhred At e %

e i

(1) 11.58185

(2) 8.14%921.86

(3) 5.98% 24.01

(4) AT THH ITAHT B |

AR Soe o qie ¢ aRom % Y, 3

gfemt 1 gfafafes & @@ & 5t %

R YR & STt o ST |

3HHT SRV 8 GhdT & :

) =R

(2) Nge (v fafrear e

(3) i fampea (1) 3R (2)

(4) ST Y Q HIS 7

fafafgs & @ o SdwEe

(Wdge) A

probability] T & ?

(1) I g9 a6 wiesar

(2) fomr gadterr & reh altem Sl
T Y SEsar

(3) hifars A B Srewarer § w1 @
T, Sifys e 2 H wlsar
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84. The

85.

86.

standard error has been
calculated as 3.5 and the sample
mean is 15.00 Thus the 95%
confidence interval lies between
(1) 11.5t018.5
(2) 8.14 to 21.86
(3) 5.98 to 24.01
(4) Insufficient
-available.

information is

Pattern of results found in our
samples do not represent the
results that would be obtained
from the entire population. This
may happen due to

(1) Selection error

(2) Population specification error
(3) Both option (1) and (2)

(4) None of the above

Which of the following is not a

conditional probability ?

(1) The probability of falling down

while walking.

(2) The probability of passing your
exam without any revision.

(8) The probability of being COVID

positive, whilst working in a

hospital COVID patients.

The probability of suffering a

sports injury while playing

dangerous game.

4

» Whlch of the following is correct

statement ?
(1) Unconditional probability is
the probability of one event

occurring with some
relationship to one or more
other events.

(2) The mean of several sample
means gives the best estimate
of the population means.

The standard deviation of the
distribution is called the
sampling error.

The larger the sample size the

- larger the sampling error.

3)

“@
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88.

89.

90.

91.

36

p < .05 H AT HFB AN T FHAT 8 ?
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yaor favemor g
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(2) F qdieo

(8) tudiEu

(4) s 1 whegw

frafalaa d @ #i9 v aga=rg TS
BaRa e ?
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(2) —0.37

(3) +1.00
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(4) 3Nféma [Expected]

forn s

D e e Rt ]
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88.

89.

90.

91.

How can p < .05 be interpreted ?
(1) We reject the null hypothesis
that there’s no difference
between the means and
conclude that a significant
- difference does exist.

There is a less than 2 in 40
probability of the result
occurring by chance alone if
the null hypothesis were
true.

The probability of obtaining
the data if the null
hypothesis were true is less
than 5%.

(4) All of the above

)

3

Analysis of variance performs
(1) z-test

(2) F-test

(3) t-test

(4) Chi-square test

Which of the following could be a
correlation coefficient ?

(1) +0.40
(2) —0.37
(3) +1.00
(4) All of the above

Using a Goodness of Fit test, we
can assess whether a set of
frequencies differ from expected
frequencies.

(1)
@
3
(4)

obtained
independent
constant

expected



92.

93.

94.

95.
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3) e smed quwiE

(4) oW Ted Ehih

|
|
|
I
|
|
|
|
|
|
|
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92.

93.

94.

95.

Suppose you want to apply Chi-
square test on some data. What
sort of data will be appropriate
for application of test ?

(1) Frequency counts
(2) Parameters

* (8) Rank ordered data

(4) Continuous scores

tests for differences

between Group Means and the
Grand Mean.

(1) Correlatidns

(2) Related
ANOVA’s .

(3) Independent t-test

(4) Measures of association

and independent

Which is the best average used in
the of
numbers ?

(1) Arithmetic mean

(2) Median

(3) Geometric mean

(4) Harmonic mean

construction index

The price index that uses base
year quantities as weights, is
called .

(1) Laspeyres index
(2) Paasche index
(3) Fisher’s ideal index

(4) Wholesale price index
36



96.

97.

98.

36
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96.

97.

98.

Which of the following is

exclusively related to corporate

financial decision making ?

(1) How much a company should
invest ? :

(2) Which type of finance is
required ?

(3) How much is the financial

need of a company ?
(4) All of the above

What comes under the category of
Asymmetric information ?

(1) Company account and
balance sheets are not
understood by all
shareholders.

(2) Company’s AGM or strategic
meetings are not attended by

all shareholders.

(8) One party to a financial
transaction - has more
information than another
party.

(4) All of the above

Under Net Présent Value method
(1) A project may be selected if

its NPV is positive.

(2) A project may be selected if
its NPV is zero.

(3) Both option (1) and (2) may
be taken.

(4) A project should be selected if

its NPV is negative.
o



99.

100.

101.

102.
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99.

100.

| 101.

Which of the following is not
correct about ARR ?

(1) ARR is based on accounting
concepts such as accounting
profit and depreciation.

ARR takes account of the
time value of money.

Under ARR, the hurdle rate
is arbitrary.

ARR means Accounting Rate
of Return. -

@
3
4

Value of the firm is usually based

on which of following ?

(1) The value of assets plus
liabilities.

(2) The value of debt and equity.

(3) The value of debt.

(4) None of the above

Which one of the following is
correct about price-earnings
valuations ?

(1) Price-earnings valuations are
usually based on Operating
profit.

Price-earnings valuations are
usually based on EBIT.
Price-earnings valuations are
usually based on Gross profit.
Price-earnings valuation are
usually based on free cash
flow.

@)
@3)
)

. Which of the following would be

counted as part of incremental
cash flow ?

(1) Interest
(2) Sunk cost
(3) Depreciation
(4) Change in working capital
36



103.

104.

105.
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1) A1

2) s 1I

(3) wUAIMII

(4) IRT § T IS T

| 103. Which of the following defines

B
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104.

105.

free cash flow ?

(1) Net profit + depreciation +

interest — capital

expenditures — change in net
working capital.

Gross profit + depreciation +

interest — capital

expenditures — change in net
working capital.

(3) After tax operating income +
tax shield + depreciation +
interest — capital
expenditures — change is net
working capital.

(4) After tax operating income +
depreciation + interest —
capital expenditures —
change in net working
capital.

Which of the following would be
counted after the end of a project ?

&)

(1) Release of working capital
(2) Scrap value

(8) Continuation value

(4) All of the above

Statement I : To compare the
projects which has different
life-spans, we select the
project with the shorter
payback period.

Statement II : To compare the
projects which has different

life-spans, we select the
project with the longer
payback period.

Which of the above statement(s)
is correct ?

(1) StatementI

(2) Statement II

(3) Statement I and II

(4) None of the above
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106. Profit investment Ratio is used in

107.

which of the following situation ?
(1) When we cannot use IRR.
(2) When capital is rationed.

(3) When IRR and NPV conflicts

to each other.

(4) In all of the above situations.

What is the general phenomenon

about gearing is true ?

the
greater

(1) Gearing  represents

effects  whereby

variable cost leads to greater

variability of  business
outcome.
(2) Gearing represents the effect

whereby greater fixed cost
leads to less variability of
business outcome.

(3) High Capital gearing ratio
suggests that a company may
not be able to meet its fixed
financial obligations if its

business slowdowns.

(4) Gearing represents the effect
whereby greater variable cost
leads to ‘less variability of

. business outcome.
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109.

110.

36
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108. Following two statements are

109.

110.

given :

Statement I : Debt is risky for
the firm, while equity is risky
for the investor.

Statement II : In business slow
down situation low capital

. gearing is relatively suitable
for the firm.

Which of above statement is
correct in terms of relative risk ?

(1) Statement I
(2) Statement II

(8) Incomplete
available.

(4) Both Statement I and II

information is

Suppose there is a situation of
availability of imperfect and
asymmetric information in the
market and there is a signal of
cut in dividend by a company.
How stock market will react to
this situation ?

(1) Share price of company will

decrease.

(2) Share price of company will
increase. ,

(3) The market does not react,
share price of company
remains the same.

(4) It depends on how the

information is interpreted by
the market.

Which of the following is factor
affecting Dividend policy ?

(1) Position of profits.

(2) Position of business cycle

(3) Liquidity in capital
requirements.
(4) All of the above
=
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111.

112.

113.

114.

Which of the following is a

Fundamental assumption made

by Modigliani and Miller model ?

(1) There are no taxes.

(2) Transaction cost for buying
and selling of securities is nil.

(3) The investment policy of a

firm is independent from

dividend policy.

(4) All of the above

Which of the following would be
financed from working capital ?
(1) Account payable

(2) Accounts receivable

(3) Bills receivable

(4) All of the above

What is the difference between
the current ratio and the quick
ratio ?

(1) In current ratio we include
physical capital and in quick
ratio we do not include it.

In current ratio we do not
include physical capital and in
quick ratio we do include it.

In current ratio we include
inventories and in quick ratio
we do not include it.

In current ratio we do not
include inventories and in
quick ratio we do include it.

()

3

(4)

Capital Gearing Ratio denotes
the relationship between which of
following ?

(1) Loans and capital.

(2) Equity shareholders funds
and long term borrowed
funds.

(3) Assets and capital.

(4) Debentures and share capital.
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115.

116.

117.

Which one of the following is
FinTech Startup in India ?

(1) CRED and Finly
(2) PayTm, and MobiKwik
(3) Both option (1) and (2)

(4) None of the above

Financial Technoldgy has been
used to automate - which of
following ?

(1) Money transfers and raising °

money for a business startup.
(2) Investment and insurance.
(3) Both options (1) and (2).
(4) None of the above

Which one of the following is true
about the bonus issue ?

(1) The bonus issue shall be
made out of free reserves
built out of the genuine
profits.

created

(2) Reserves by
revaluation of fixed assets
are not capitalized at the

time of bonus issue.

The declaration of bonus
issue, in lieur of dividend, is
not made.

(4) All of the above

3)
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118. Which

C))

119.

120.

of the
statements about
costing is true ?
(1) Marginal
independent
costing.

In marginal costing all
elements of cost are divided
into fixed and variable
components.

In marginal costing fixed
costs are treated as product
cost. .
Marginal costing is not a
technique of cost analysis.

marginal

18 an

of

costing
system

)

3)

Which of the following is not a
assumption under Marginal
Costing ?

(1) Cost can be divided into fixed
and variable cost.

Fixed costs ' remain
unchanged or constant for
the entire volume of
production.

Variable cost does not remain
constant with per unit of
output.

The selling price per unit
remains unchanged or
constant - at all levels of
activity.

@)

3)

(4)

Which of the
sources of funds ?
(1) Issue of shares for cash

(2) Sale of fixed assets _

following are

(8) Decrease in working capital
(4) All of the above

36
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121.

122.

| 123.

The cost of debt capital is
calculated on the basis of which
of following ?

(1) Annual proceeds

(2) Annual interest

(3) Annual depreciation

(4) Net Capital

Which of the following is correct
about the dividend policy ?

(1) Dividends are often part of a

company’s strategy. However,

" they are under no obligation

to repay shareholders using
dividends.

Stable, constant and residual
are the three types of
dividend policy.

Dividend policy should be
framed by looking at the
customers’ expectations only.

(4) Option no. (1) and (2) only.

)

3)

Which of the following is
Gordon’s formula in relation to
dividend policy ?

D
1 P =K

e
P, +D,
1+K,

100

3) P=’NI—P><

B
@ P=g
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(4) T AN F GHI AHR GA

wfengfertt =) Elter & wem |
=1 1 @ ford Tn-Fswfea aiematt 6
Soft F wftrfera R ST & 2
(1) dfer afmmfaat
(2) 3u-yHIfa giEmaRaEt
(8) wIf AT IrMen qREmEt
(4) IR axfy

———— T —— T—— r— — ———— —_— — —
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124. Which of the following is related to

125.

126.

127.

Open Market Operations of RBI ?

(1) Sell and purchase of Foreign
Currency.

(2) Sell and purchase of
Corporate Securities.

(3) Sell and purchase of G. Securities.

(4) Deciding the Interest Rates

in the International Market.

Which one of the following is not
the component in CAMEL Model ?
(1) Management
(2) Credit

(3) Assets

(4) Earnings

built the

Institutions with

support of IDBI are

(1) SIDBI

(2) SHCIL

(3) NSE

(4) All of above

Liquidity is controlled in the
economic system by

(1) RBI by resorting to purchase
of securities at the time of
excess liquidity.

RBI through buying securities
at times of tight liquidity.

RBI by resorting to sale of
securities at times of excess
liquidity.

Government through buying
securities at times of tight
liquidity.

@)
3

(4)

. Which of the following is included

in Non-performing Assets

category ?

(1) Doubtful Assets

(2) Sub-standard Assets
(3) Loss Assets

(4) All of the above
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129, 10 3R fad 1N U0 Q. AR T

130.

131.

36

I ?

(1) @ % dga ok fed W@ ¥ e,
A3, T d9 & 3UR
AR |

(2) W % agq, R3S, iy
Johl ¥ IUR T 8 3R fad W &
qgq, IR.amg. v S
I YR AT 2 |

(3) W % qEq, I3, afvifes
dep! %I YN <l 8 AR fgd W &
qEd, IR 31. aforf s S |
SUR AT R |

(4) W % dga 3N g W & ey,
T S TR.€1.37E. ¥ IUR
Az |

=0 Gt e qGid IR faw & T
I P T A THAT A1 S

(1) IRRYe =7 1 fo Ty

() wriEfie &f =B

(3) @al =1 fa@r

(4) TSATET BfeT

frafafaa # @ o9 @1 w faw dwH

HATH AN A TATR ?

(1) A Pt =) @ § fm 6 wee
FASI

(2) 9 39 UTEH! A T ST HA & |

(3) 3 fae 3R AftmrEw # a9 T
HIACHAE |

(4) 3 forxfiT gemmEdR F w9 § HE HQ
g1

I
|
I

130.

131.

129. What do you mean by Repo and

reverse Repo instruments ?

(1) Under
Reverse

borrow
Banks.

Under Repo, the RBI borrows
from the Commercial Banks
and under Reverse Repo, RBI
lends to Commercial Banks.

Under Repo, the RBI lends to
Commercial Banks and
under Reverse Repo, RBI
borrows from Commercial

Banks.

Under Repo and under
Reverse Repo, Commercial
Banks borrow from the RBI.

Repo and under
Repo, the RBI
from Commercial

)

3

4

Hybrid of debt and preferred
stock finance is known as

(1) Early stage funding
(2) Working capital loan
(3) Expansion funding
(4) Mezzanine funding

Which of the following is
incorrect about functioning of an
investment banker ?

(1) They help corporations in

finding the investors.

(2) They take deposits from their

customers.

3)

They help their customers in
mergers and acquisitions.

They act financial
advisors.

as

4



132.

fraffeqda s adi g ¢

(1) W@ sFed H frdt ot Ay
Wi eSS 3R ARH.IE. g
sftpa foreft st sorgities Sfém
RAeH T HRIER T T Tehell 2 |

(2) M AT w1 FRIER g 9& & &=
foran < gepar 8, R @ w afEm
TS Bt =R |

(3) G o ® T TS % ¥9 # RBI
BT =TT |

| 182. Which of the following is true ?

(1) Repo transactions may be
traded on any recognized
stock exchange and any
electronic trading platform
duly authorized by RBI.

Repo transactions may be
traded between two parties,
one of whom should be a
banking entity.

Repo transactions must have
RBI as one entity.

(2)

3

(4) I weft (4) All of the above
133. Prefeiaa ¥ 3 Sih ueeh weAg st | 133, Which of the following is the micro
2 I g ¥ % &9 # iEeE o finance company that becomes the
: 3 3 first to start operations as a
Nkl TR 7 Commercial Bank ?
(1) PayTm &% (1) PayTm Bank

134.

135.

(2) ST m-Pesa ¥

(3) WY, WicT BEE &

(4) sESH

ARd A s §o1 &1 S g
fatafea # ¥ foog geam gra foman s
gHare ?

(1) IE.IATET,

2) ARH.31E.

(3) <.omE. S

(4) .4 shH.

faeeht & ai # Fafafea & @ w9 @

TR 7

(1) SIDBI %1 T A1 R &g I
fpads? |

(2) SIDBI i T 2 318, 1980
HIge et |

(3) SIDBI THUATH & & foe @
for Tem R |

(4) w@TS (3.9.) ¥ SIDBI 1 94
SR 8 |

T E— ———— r— ——— i — — i —Yo—
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134.

(2) Vodafone m-Pesa Bank
(3) AU Small Finance Bank
(4) Bandhan Bank

Commercial Banks in India may
be insured by which of the
following institute directly ?

(1) IRDA
(2) RBI

(3) DICGC
4) ECGC

. Which of the following is not

correct about SIDBI ?

(1) The full name of SIDBI is
Small Industries
Development Bank of India.

(2) SIDBI was established on
April 2, 1980.
(3) SIDBI is the principal

financial institution for the
MSME sector.

SIDBI has its head office at
Lucknow (U.P.)

(4)
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136.

137.

138.

139.

140.

frafafea § @ e I wwrda ol

¥ g Rfafa iz ¢

(1) V2 S ATE TAUHR

(2) T, WA BEAE 6

(3) We % 1w fufern

(4) faEd=

‘e <1 It T8 < fafe 9, S

AR ?

(1) FATHFATAI YR AR |

(2) W HfFT 96 AW URAAE |

(3) dw = X FuiRawar? |

(@) Twed (1) 3t (2)

.0 @ FI AR ?

(1) % BR BEAEe i

(2) WIS BR BIEAfRT gufesH

(3) % BRERA R

(4) 91E BR Hfen we fgfeaTH

feafefga d a s e T e e ?

(1) Nefs &7 H 9§ IR W
Forrfcr 3 ol % o 2 4

(3) RBI 9« fafwa <t & a1 +0 =1
o SER 2 |

(49) RBI g fe@ 7@ “Ways and
Means advances” (&= 3ABH)
T g0 TR fhe S € |

Frafafea A d PET A FUT A ? ?

(1) e FY grE AR g w8
TR 9Wdl W YRd TR,
IARE.AE. IR T R >
Hifa fmior d TR AT 2 |

2) = fEaw g@ ¥ fau anfiu
facfiw awymt w1 @i @ @
(FIA FATHIeTH /)

(3) e cuneH 3R faavm wrE & forg
Teftor ferefr w1 gAfd T |

(4) s uwior g e % faem 3t
T ShiSe TTEHT I Hled HH &
RuTT TR H aE e |

r—— s 21 St ¢ h s St e a e STt
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136.

137.

138.

139.

140.

2

3
4

()

3)

(1) State Bank of Travancore

(4) AXIS Bank

(1) Borrow reserves from
the Central Bank.

(4) Option (1) and (2) -

(2) Board for Financial Supervision
Securitization

(1) Industrial sector recession is
Long term financial needs
RBI is the supreme authority to
given by RBI are repayable

correct statement ?
State Governments on matters
NABARD refinance to Rur
lNoilﬁg%) refinance to Rural

4) RIABARD rovides Loans to

and strengthenin of the

Which of the following banks is
not regulated by RBI ?
(2) AU Small Finance Bank
(3) State Bank of Sikkim
In the situation of ‘no excess
reserves’, what does a bank do ?
another Bank.
(2) Borrow reserves directly from
(3) The Bank set a higher
interest rate.
What is the full form of B.F.S. ?
(1) Bank for Financial Securities
(3) Bank for Foreign Securities
(4) Board for Funding and
Which among the following is the
only correct statement ?
normally due to decrease in
exports.
may be fulfilled by money
markets.
fix the floating Exchange Rates.
“Ways and means advances”
by State Governments.
Which of the following is not
(1) NABARD assist i f)ohcy
formulation of Gol, RB
related to Agricultural Credit
and Rural Development.
Financial Institutions for
investment eredit (short term
Financial Institutions for
roduction and marketing credit.
State vernments for
developing Rural infrastructure
Co-operative Cred.lt tructure.
=



141.

142.

143.

144.

145.

frafafea & @S9 @1 wra & gwfia
TG HT R EAR ?

1) =

(2) TEHlaF

(3 ¥t arH

(4) I & HIE T

W R s (RBD) H = Hi 7

(1) 0« 1949

) ¥, 1935 %

(3) e, 1949 #

(4) S9aft, 19359

frafefga § @ =5 @1 wRa A St &9

A gaR E ] ?

(1) forcfim wmafert % sl ok
Ao & foe arfufem

(2) W W it Upum F o
srfufem

(3) = U 1 StffrEm=

(@) Fh el § ymleshiar g

e ! =g fafafea § @ fem

afifa 1 R w78 oft 7

(1) SHTET (Crofee) @fufa

(2) Zs afafa

(3) T afafa

(4) T Narasimham) afafd

s, & o1s. gaR asw%i%mmsr

QTR ?

(1) 1t W, (9, 9
neqy IET)

(2) His ot AfEerer TR

(3) S oft =afr o o erwin &

(4) I A T B T |
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141.

142.

143.

144.

Which of the following is the
institutional source of rural
Credit in India ?

(1) Traders

(2) Co-operative Bank

(3) Land holders

(4) None of the above

Reserve Bank of India (RBI) was
established in

(1) April, 1949

(2) April, 1935

(8) January, 1949

(4) January, 1935

Which of the following is not a

banking sector reform in India ?

(1) Act for Securitization and
Reconstruction of Financial
Assets.

(2) Act for prevention of Money

Laundering.

(3) Deregulation of Interest
rates.

(4) Progressive increase in tax
rates.

NABARD was established on the
recommendation  of which of
following Committee ?

(1) Crofee Committee

(2) Tandon Committee

(8) Sivaraman Committee

(4) Narasimham Committee

. What is the eligible segment for

IDBI Dhanvantri Loan ?

(1) Any MSME

(2) Any Medical Practitioners
(3) Anyone who is credit worthy
(4) None of the above
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146.

147.

148.

1490

150.

2006 ¥ IDBI Ltd. % |1 fafeifaa
o ¥ foruen) gamifera fram . 7

(1) IoTsee I 9%

(2) IDBI 8w w154 fafiee

(3) IDBI fieew fafies

(4) -390 oeft

frafafga @ @ ®% IFCI fafies 6t
IS HT 8 7

(1) IFCI 3R $fuee vea fafies

2) . 9.9,

(3) Wi Bifcen BT AT sfean
(4) IR qefi

Frafafaa o @ froht SIDBI & e
a1 faeiert 7 (STaRER 2020 #i)

(1) ¥R GGHR

(2) R Qe %

(3) =TS

(4) Ta. .

__ @ sfugam & d8q, SFCs
Frfafrm, 1951 % agq, Tore foxfig
o RFC) &1 e fopam mam o |

(1) 175948, 1961

(2) 19s=ad, 1973

(3) 175=a8, 1955

(@) 193ad, 1955

ot Afufam, 2013 6 feg T &
afdaw fafies [UTIITSL] # st
FHIN TR 7

(1) 412 (45)

2 g3

(8) um 4 (2

(4) @5

146.

147.

148.

149.

. Under

Which of the following

amalgamated with IDBI Ltd. in

2006 ? _

(1) United Western Bank

(2) IDBI Home Finance Ltd.

(3) IDBI Gilts Litd.

(4) All of the above

Which of the following is

subsidiary of IFCI Limited ?

1) iF((ilI Venture Capital Funds
t 4 3

(20 MPCON

(38) Stock Holding Corporation of

India
(4) All of the above

Which of ‘the following have
biggest shareholding in SIDBI ?
(As on October, 2020)

(1) Government of India

(2) State Bank of India

(3) NABARD

@ LI.C.

Under the SFCs Act, 1951, the
Rajasthan Financial Corporation
(RFC) was constituted under a
notification on

(1) 17tk January, 1961

(2) 19tk January, 1973

(3) 17tk January, 1955

(4) 19tk January, 1955

which Section of
Company’s Act 2013, the UTI
Infrastructure Technology and
Services Limited (UTIITSL), is
construed as a Government
Company ?

(1) Section 2(45)

(2) Section 3

(3) Section 4 (2B)

(4) Section 5
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